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QUESTION 1

What describes the process of moving data between different classes of disks and storage, based on policy? 

A. IOPS monitoring 

B. storage tiering 

C. data clustering 

D. LUN migration 

Correct Answer: B 

 

QUESTION 2

You are designing a synchronous remote mirror solution. Which two factors regarding maximum distance must be
considered in this scenario? (Choose two) 

A. the customer\\'s application tolerance for latency 

B. the customer\\'s RTO requirement 

C. the availability of high-speed communication links 

D. the amount of storage required by the customer\\'s application 

Correct Answer: BD 

 

QUESTION 3

You have a RAID 5 set with five disks at 400 GB each. Approximately how much usable space would this configuration
yield? 

A. 1 terabyte 

B. 2 terabytes 

C. 1.2 terabytes 

D. 16 terabytes 

Correct Answer: C 

 

QUESTION 4

According to SNIA, what are two valid storage tiering types? (Choose two.) 

A. host tiering 
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B. application tiering 

C. storage cache tiering 

D. cloud tiering 

Correct Answer: CD 

 

QUESTION 5

You want to replace multiple copies of data, at variable levels of granularity, with references to a shared 

copy to save storage space and/or bandwidth. 

Which data reduction method would satisfy the requirement? 

A. deduplication 

B. compression 

C. thin provisioning 

D. conditioning 

Correct Answer: A 

 

QUESTION 6

Which statement is correct regarding LUNs? 

A. a representation of segmented storage space to be provided to their servers 

B. a scenario where log file servers reach maximum disk capacity 

C. a method for encapsulating Fibre Channel frames 

D. a method for optimizing LAN traffic 

Correct Answer: A 

 

QUESTION 7

Software Defined Storage (SDS) uses which type of technology to function? 

A. replication 

B. virtualization 

C. authentication 

D. Application 
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Correct Answer: B 

 

QUESTION 8

You are consulting for a major financial institution and are verifying their current disaster recovery processes. Your client
has a Recovery Point Objective (RPO) of zero.In this scenario what does this mean? 

A. The customer has no data at risk. 

B. The customer has a zero tolerance policy. 

C. The customer has a zero data loss requirement 

D. The customer has a zero chance of failure. 

Correct Answer: B 

 

QUESTION 9

When presenting a single volume to multiple hosts, which type of service needs to be running on the hosts? 

A. clustering services 

B. DNS services 

C. directory services 

D. DHCP services 

Correct Answer: C 

 

QUESTION 10

A customer hires you to create an incremental backup scheme. Which solution would you recommend to the customer? 

A. Create a backup scheme that will do a full backup and then only backup selected files. 

B. Create a backup scheme that will do a full backup and then only backup changed data since the last backup. 

C. Create a backup scheme that will do a full backup and then only backup changes since the full backup. 

D. Create a backup scheme that will do a full backup and then only backup files selected by the host owner. 

Correct Answer: B 

 

QUESTION 11

According to SNIA, what is a data structure signed with a digital signature that is based using a public key and confirms
that the key belongs to the subject identified in the structure called? 
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A. certificate 

B. public key 

C. secure key 

D. private key 

Correct Answer: A 

 

QUESTION 12

Which two statements regarding hybrid drives are correct? (Choose two.) 

A. Flash memory stores frequently accessed content. 

B. Flash memory is located on the motherboard of the server 

C. Flash memory is located on the HDD circuit board. 

D. Flash memory is not used with a hybrid drive. 

Correct Answer: BC 

 

QUESTION 13

You want to use a light-weight communication API for cloud access. What would you use in this situation? 

A. Representational State Transfer (REST) 

B. Simple Object Access Protocol (SOAP) 

C. Internet Engineering Task Force (IETF) 

D. World Wide Web Consortium (W3C) 

Correct Answer: A 

 

QUESTION 14

What is the default port that iSCSI traffic uses? 

A. 3260 

B. 80 

C. 443 

D. 53 

Correct Answer: A 
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QUESTION 15

Your company needs to buy more disks for new servers and are considering SSD and HDD solutions What are two
reasons why you would recommend using SSD? (Choose two.) 

A. no moving parts 

B. better performance 

C. high capacity 

D. lower cost 

Correct Answer: AB 
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